1
You have three choices of route to get to Manchester from Birmingham by road. The first route eventually takes you through the Derbyshire Dales. This is very attractive but the road is slow and winding. The second route is via the motorway which is very fast but takes you through some very ugly industrial landscapes. The final route is through Staffordshire which goes through attractive countryside on fast straight roads. It follows that your best route by road to Manchester is the final one.

Which of the following is an underlying assumption of the above argument?

A
Travelling by road is the best way to travel from Manchester to Birmingham.

B
Scenery does not present any dangers of being distracted from one’s driving.

C
There is nothing to be gained by driving through ugly industrial landscapes.

D
The key factors to consider in choosing a route are scenery and speed.

E
The final route is the safest of the three routes under consideration.


2 
People who are concerned about using animals for experiments often make a distinction between medical research and cosmetic research. They support the former because they see it as morally justifiable and reject the latter because they see it as frivolous and unnecessary. However, the use of cosmetics is not necessarily frivolous. Plastic surgeons use special make-up as part of their treatment for facial disfigurements such as scars and burns. We should therefore support the use of animals in cosmetic research for such medical purposes.

Which of the following, if true, would most weaken the above argument?

A
The use of some cosmetics, e.g., lipstick, is frivolous and unnecessary.

B
Existing cosmetics cover up all facial disfigurements effectively and safely.

C
Cosmetics can be produced without the use of animal experiments.

D
Cosmetic surgery is a recognised branch of medicine.

E
Untested cosmetics might be harmful to people using them.

3
Social researchers have established that blonde females are discriminated against when applying for jobs. They found that a blonde female and a brunette female applying for the same job with the same qualifications were treated differently. The blonde was offered lower pay and grading than the brunette. This suggests there is a ‘dumb blonde’ stereotype operating in the workplace. In spite of this evidence and the widespread perception that blondes are regarded as secretarial rather than managerial material, many working women choose to colour their hair blonde. So considerations other than career seem to determine many women’s choice of hair colour. However, hair colour should not have any career implications in a world of equal opportunities.

Which of the following is the best statement of the main conclusion of the above argument?

A 
Research shows that there is some truth in the idea that blonde females are stereotyped.

B 
Hair colour should not have any career implications in a world of equal opportunities.

C 
Career factors do not appear to be important in determining many women’s choice of hair colour.

D 
Hair colour is of greater social significance for females than many people have realised.

E 
Many women choose to have blonde hair even though evidence suggests it might damage their career.

4 
Most fish farming produces an inferior quality of product in comparison to fish caught in the open sea or river. This is because normal fish farming uses a great deal of chemicals to control disease in the fish and these impair texture and flavour. However, organic fish farming does not use such chemicals so these fish will be as good as fish caught in the wild.

Which of the following is the best statement of the flaw in the above argument?

A 
It fails to explain the causal connection between poor quality and the use of chemicals. 

B 
It fails to recognise that the judgement of the quality of a product is subjective.

C
It fails to consider the effect of over-fishing on the stock of fish in the wild. 

D 
It fails to explain how organic fish farmers avoid disease in their fish.

E 
It fails to consider other reasons why fish caught in the open sea or river might be superior.

5 
The government established a new ‘phone-in’ health advice service a few years ago called NHS Direct. It was hoped that this service would cut down on the number of visits people made to their family doctor. However, the number of visits to family doctors has actually increased since the establishment of this service. This means they are still having to cope with far too many patients. Consequently doctors are not able to spend as long with each patient when they visit the surgery as they would like.

Which of the following is a conclusion that can be drawn from the above passage?

A 
NHS Direct has been responsible for increasing the workload of family doctors.

B 
One of the aims of establishing NHS Direct has not been achieved.

C 
People’s health suffers because NHS Direct fails to reduce family doctor consultations.

D 
Patients are dissatisfied with the service they get from NHS Direct.

E 
Fewer people are using NHS Direct than was hoped when it was established. 

6 
Over the last few years airline companies have increased the proportion of re-circulated air in aircraft cabins. Some people have expressed concern about this, suggesting poor air quality can contribute to dizziness and fainting on the part of some passengers. It can also contribute to the spread of infection. These concerns are misplaced: the air quality in aircraft cabins is as good as that found in many homes and offices.

Which of the following, if true, would most weaken the above argument?

A 
Infection is spread because of the number of people in the confined space of the aircraft cabin.

B 
The advantages of air travel still make it worthwhile even if air quality is poor in aircraft cabins. 
C 
The air quality in many homes and offices may also cause feelings of dizziness and fainting.

D
Air quality has declined largely as a result of money-saving measures on the part of airlines.  
E
There are many other health risks associated with flying, e.g. deep vein thrombosis.
7 
Scientists have developed a genetically modified mosquito that is unable to transmit malaria to humans. If these mosquitoes are released into the wild over a period of time they will mate with wild mosquitoes and pass on the gene that will eventually render mosquitoes harmless to humans. The breakthrough in the technology is that these scientists have discovered a way of ensuring that the gene is passed on even though it confers no advantage on the species and benefits only humans. Given that malaria kills 2 million people a year, we should welcome this application of genetic modification technology. It is actually more environmentally friendly and effective than existing attempts to control malaria through insecticides and drugs to which the malaria parasite is increasingly resistant.

Which of the following, if true, would most strengthen the above argument?

A
Existing ways of fighting malaria used to be effective in countries where malaria was common.

B 
Existing treatment of malaria through drugs can cause serious side-effects in many people.

C 
Genetic modification is misunderstood by many people who have failed to appreciate its potential.

D
Many types of mosquito do not carry the parasite that causes malaria.

E 
There are many other types of insect which can cause serious disease.
8 
Many scientists are arguing that three key developments in technology will transform life as we know it. Whilst such claims have often been found to be exaggerated in the past, these new technologies are very different from anything that has gone before, so we should not use the outcome of past predictions to judge the validity of the claims now being made. The three technologies are IT, genetic modification and, one that is less appreciated, nanotechnology i.e. the ability to manufacture computers of a microscopic size. Whilst less discussed, this technology is crucial in developing the ability to integrate computers with the human brain.
Which of the following is the best statement of the main conclusion in the above argument?

A 
Past claims about the future impact of technology on our lives have often proved to be exaggerated.

B 
Our understanding of what it is to be human will be transformed by present technological developments.

C 
The future impact of developments in technology on human society seems to be very disturbing.

D 
New technological developments are very different from anything that has gone before.

E
The failure of past predictions is not a reason for rejecting present claims about how technology will affect us.
9 
Dutch scientists have recently trained a species of wasp with an acute sense of smell to detect buried mines. The wasps can perform to far higher standards than any ‘sniffer’ dog and take as little as an hour to train. This compares to the months it takes to train a dog. Whilst it is true that wasps cannot bark in order to alert soldiers as to the presence of mines, the scientists have developed an alarm system which sounds when the wasp detects a mine. We can therefore expect these wasps to replace sniffer dogs for mine-detection purposes over the next few years.

Which of the following, if true would most weaken the above argument? 
A 
The life span of a wasp barely extends beyond six weeks.

B
Not all species of wasp have an acute sense of smell.

C 
Enemy troops could easily train mine-detecting wasps in the same way.

D
Dogs can operate in a wider range of temperatures than wasps.
E
An important bond develops between dog-handler and dog.
10 
Much social and political disturbance is caused by people exercising their right to demonstrate in support of their beliefs. Where such demonstrations threaten to create such serious disorder that the police or army would not be able to guarantee protection of life and property, this right is suspended. These situations usually involve groups who are minorities with extreme views that offend many people and who deliberately stage demonstrations in areas where local communities are likely to oppose them violently. Such groups can argue that their right to express their beliefs through political demonstration has been taken away even if there are good reasons to do this.

Which of the following is a conclusion that can be drawn from the above passage?

A 
The police and army do not have sufficient manpower to maintain law and order. 
B 
The banning of demonstrations by extreme groups cannot be justified.

C
The maintenance of law and order at times takes precedence over the rights of the individual.

D 
Demonstrations by small minority groups are more likely to be banned than those by large groups.

E 
Political and social unrest would decline if there were fewer demonstrations. [

11 
Evidence shows that young people who don’t have educational qualifications have a higher rate of unemployment than those who do. Furthermore, those with a higher rate of unemployment have higher rates of crime. This shows that it is important to ensure that as many young people as possible get qualifications. But a strategy for increasing educational success has to take account of the extent to which young people themselves are responsible. Though poor school facilities and poor teaching are part of the problem, so too are not working hard at school, playing truant, and being disruptive. Therefore, as part of any crime-reduction policy, we need to bring home to young people the message that school is important.

Which of the following is the best expression of the author’s use of the word ‘responsible’ in the above argument?

A
Showing a sensible attitude to schoolwork.

B
Obliged to adopt a positive approach to school.

C
A cause of the problem of educational failure.

D
In control of their lives at school.

E
To be trusted to work hard at school.
12 
Freud claimed his way of studying the human mind — psychoanalysis — was a science. However, the theories Freud put forward were, and are, incapable of being proved through experiment and observation unlike true sciences such as physics and chemistry. Therefore Freud’s work is of no value as it has failed to live up to the scientific standards which he claimed for it. Those who want a scientific approach to the human mind should refer to work where theories have been subject to testing through experiment and observation.

Which of the following is an underlying assumption of the above argument?

A
Freud valued only those approaches to the mind which were scientific in nature.

B
A scientific approach to the mind will enable us to understand it fully.

C
True science is based only on experiment and observation.

D
The value of Freud’s work can be judged only in terms of its scientific credibility.

E
Only science offers a meaningful way to explore the human mind.
13 
Poetry is a form of writing characterised by rhyme, rhythm and metre. Publishers often argue that poetry does not sell well in Britain. However, in the weeks approaching last Christmas, the book ‘The 500 Smuttiest Limericks Ever — Volume 2’ was in the top 10 best sellers list. Limericks have the characteristics of rhyme, rhythm and metre and are therefore poems. This shows there is not a problem in selling poetry if one publishes poetry of a type that has wide popular appeal.

Which of the following is the best statement of the flaw in the above argument? 
A 
It assumes the book will go on selling beyond the Christmas period.

B 
It generalises from a particular example to best-selling poetry as a whole. 
C 
It assumes any writing with rhyme, rhythm and metre is a poem.

D 
It is not possible to define what poetry will have wide popular appeal.

E 
It assumes poetry that sells well is of good quality.
14 
There has been increasing interest and participation in activities with an element of risk, e.g. bungee-jumping. At the same time safety measures designed to protect the public have been applied with increased rigour. This is because local authorities fear they could be sued if an accident occurred. These two developments are contradictory. If the public are willing to take risks in their leisure activities then they should be prepared to accept an element of risk in their everyday life. Laws should be amended so that local authorities cannot be held responsible for all risks people encounter. This would save them a great deal of money. It would also stop ridiculous developments such as banning traditional playground activities, e.g. roundabouts, on safety grounds.

Which of the following is the best statement of the main conclusion of the above argument?

A 
There is a contradiction between developments in leisure activities and developments in public safety measures.

B 
The law should be changed so that local authorities cannot always be held responsible for risks people encounter.

C 
A change in the law would be of great benefit to local authorities as it would save them a great deal of money.

D 
A change in the law would bring to an end the need for excessive safety measures which threaten traditional pastimes.

E 
The public should accept an element of risk in their everyday life given there is widespread participation in risky leisure activities. [

15 
For many centuries the skill of the basket maker was crucial in the provision of the means of storing and carrying a range of goods. But the demand for traditional baskets went into a steep decline with the introduction of plastic containers during the 1 950s. However, this was not because plastic provided a superior means for the storage and carrying of goods. Clearly baskets are better for storing some goods in that they allow air to circulate around the goods they contain. Rather, the success of plastic containers was because they were much cheaper than the traditional basket and were more durable. It needs to be remembered that plastic containers became popular only when their price fell significantly below that of the traditional basket.

Which of the following is a conclusion that can be drawn from the above passage?

A
Superior quality is not a sufficient condition to ensure a product will sell successfully.

B 
If the price of traditional baskets had remained the same as plastic containers they would not have declined.

C
If baskets had been made of more durable’ material they would have been preferred to plastic containers.

D
The traditional basket making industry has now completely disappeared as an economic activity.

E 
The only advantages that plastic containers have over traditional baskets is that they are cheaper and more durable.
16 
In the 1950s, there was little to distinguish the privately-owned ‘stately home’ from those which were run by the National Trust. Both types essentially offered the visitor a large historic house and surrounding gardens and parkland. From the 1960s onwards, however, the privately-owned operations invested a great deal in other ‘attractions’ such as fun-fairs, safari parks, ‘pets corners’ and fast-food outlets designed to appeal especially to children. The National Trust, on the other hand, has not followed this trend and has relied purely on the large historic house and surrounding gardens and parkland in order to attract visitors. Therefore, the National Trust’s relative decline in visitor numbers is explained by their lack of facilities which appeal to children.

Which of the following is an underlying assumption of the above argument?

A 
Privately-owned operators are more motivated by profit than the National Trust.

B 
The National Trust attracts a more discerning, educated middle-class clientele.

C 
Family parties account for a high proportion of visitors to stately homes.

D 
All stately homes are open to the public and reliant on visitors for income.

E 
People who visit the privately-run operations are not interested in history. [

